

Date:

Sub:

لماذا ابراهيمي حارة لكيف ٢٠ ما زرعهم رفته C

$$\alpha = \frac{1}{\beta} = \frac{1}{\beta} = \frac{1}{\beta} \quad (1)$$

$$\frac{1}{\beta} \times \beta = \frac{1}{\beta} \quad \frac{1}{\beta} = \frac{1}{\beta} \quad \beta = \pm \frac{1}{\beta}$$

$$\frac{1}{\beta} + \frac{1}{\beta} = \frac{1}{\beta} \rightarrow \frac{1}{\beta} = \frac{1}{\beta} \rightarrow a_1 = 1 \quad a_1 - a_2 = 1 - (-1) = 2$$

$$\beta = -\frac{1}{\beta} \rightarrow \alpha = -1 \rightarrow -1 - \frac{1}{\beta} = \frac{1}{\beta} \rightarrow a_2 = -1$$

$$\sqrt{\frac{1}{\alpha}} + \sqrt{\frac{1}{\beta}} = d \rightarrow \frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = d \rightarrow \frac{\sqrt{\beta} + \sqrt{\alpha}}{\sqrt{\alpha\beta}} = d \quad (2)$$

$$\alpha\beta = \frac{1}{\beta} \quad \alpha + \beta = \frac{m+1}{\beta}$$

$$\alpha + \beta + \frac{1}{\beta} = \frac{1}{\beta} \Rightarrow \frac{m+1}{\beta} = \frac{1}{\beta} - \frac{1}{\beta} = \frac{1}{\beta}$$

$$m+1-1 = m = -1$$

$$m\alpha + \beta + 1 = 0$$

$$-\alpha + \beta + 1 = 0$$

$$\frac{c}{a} = -1$$

$$(\alpha + \beta)^r = 1 \rightarrow \alpha^r + \beta^r + \frac{1}{\alpha\beta} = 1 \rightarrow \alpha^r + \beta^r = 0 \quad \left\{ \begin{array}{l} \alpha = 1 \\ \beta = -1 \end{array} \right.$$

$$\sum x(-1)^r + k + 9 - r = 0 \rightarrow k = -1 \quad \checkmark$$

$$\sum x 1 + \sum k - 1 - r = 0 \rightarrow k = -1 \quad \checkmark$$

Date:

Sub:

$$r\alpha^r + r\alpha^r = r_1\partial\alpha^r + r_1\partial\beta^r + r_1\partial\alpha^r - r_1\partial\beta^r \quad (F)$$

$$\frac{\partial}{\partial r}(\alpha^r + \beta^r) + \frac{1}{r}(\alpha^r + \beta^r) \quad \alpha^r + \beta^r = S^r - r\rho = 2r\gamma - r\alpha$$

$$\alpha^r - \beta^r = (\alpha + \beta)(\alpha - \beta) = -4(\sqrt{r\gamma - \alpha})$$

$$= 4\sqrt{r\gamma - \alpha}$$

$$\frac{\partial}{\partial r}(\alpha^r + \beta^r) + \frac{1}{r}(\alpha^r - \beta^r) \rightarrow 9 - \partial\alpha + \sqrt{r\gamma - \alpha} = 12\sqrt{r} + 10$$

$$9 - \partial\alpha = 10 \rightarrow \alpha = 1 \quad \sqrt{r\gamma - \alpha} = 12\sqrt{r} \rightarrow \boxed{\alpha = 1}$$

(D)

$$x^r = t \quad t = \frac{4V \pm \sqrt{49}}{r}$$

$$t^r - Vt - \delta = 0 \quad x = \pm \sqrt{\frac{V \pm \sqrt{49}}{r}}$$

$$0 = 29 + r = 49$$

$$S = 0 \rightarrow \rho = \frac{-V - \sqrt{49}}{r}$$

$$r\rho^r - r\rho^s + rs = 0 \Rightarrow r\rho^r = \frac{29 + 49 + 12\sqrt{49}}{r} \times r = \boxed{89 + 12\sqrt{49}}$$

$$\alpha + \beta = -\frac{1}{r}$$

$$\alpha + \beta = -\frac{1}{r}$$

$$\alpha\beta = -\frac{r}{a}$$

$$\alpha + \frac{1}{r} + \beta + \frac{1}{r} = \frac{a}{r} \quad (G)$$

$$\alpha + \beta + 1 = \frac{a}{r}$$

$$\alpha + \beta = \frac{a - r}{r} \rightarrow a = 1$$

$$\left(\frac{1}{r} + \alpha\right)\left(\frac{1}{r} + \beta\right) = \frac{1}{r^2} + (\alpha + \beta)\frac{1}{r} + \alpha\beta = \frac{b}{r}$$

$$\frac{1}{r^2} - \frac{1}{r^2} - \frac{12}{r} = \frac{b}{r} \rightarrow b = -4$$

$$\left[\frac{ab}{r}\right] = \left[\frac{1 \times -4}{r}\right] = \left[-\frac{r}{r}\right] \quad (H)$$

$$a\alpha^r - a\alpha - b = 0$$

$$S = 1$$

$$a\beta^r - a\beta - b = 0 \rightarrow \beta^r - \beta = \frac{b}{a}$$

$$\rho = -\frac{b}{a}$$

$$S \cdot \beta^r + r \cdot \alpha^r - r \cdot \beta = r \cdot \beta^r + r \cdot \alpha^r + r \cdot \beta^r - r \cdot \beta$$

$$r \cdot (S^r - r\rho) + r \cdot (\beta^r - \beta) = r \cdot \left(1 + \frac{rb}{a}\right) + r \cdot \left(\frac{b}{a}\right) = r + 2 \cdot \frac{b}{a} + r \cdot \frac{b}{a} = r + 4 \cdot \frac{b}{a}$$

$$\frac{b}{a} = -\frac{1}{r} \Rightarrow b = -\frac{1}{r} \cdot a \Rightarrow \frac{\sqrt{a}}{|a|} = \frac{\sqrt{ar - 2ab}}{|a|} = \frac{\sqrt{ar - ar}}{|a|} = \frac{1}{|a|} \sqrt{\frac{2}{a}} = \frac{1}{|a|}$$

$$\frac{\sqrt{2}}{a} = \frac{\sqrt{2}}{a}$$

Elipon

Date:

Sub:

$$a = r^k + 1 \times r^{k-1} = \sum_{k=1}^r r^{k-1} \quad \left\{ \begin{array}{l} \sum_{k=1}^r r^{k-1} = \dots \\ \sum_{k=1}^r (k-1) = \dots \rightarrow k=1 \\ k=0 \end{array} \right. \quad (1)$$

$$a+1 = \sum_{k=1}^r r^{k-1} \rightarrow a = \sum_{k=1}^r r^{k-1}$$

$$b = \sum_{k=1}^r k' r + \sum_{k=1}^r k'$$

$$a = r$$

$$r a + 1 = \sum_{k=1}^r k' + r$$

$$|a-b| = |r - r \sum_{k=1}^r k' + 1| = r$$

$$1 = \sum_{k=1}^r k' + r \rightarrow k' = r \rightarrow b = r \sum_{k=1}^r k'$$

(4)

$$\alpha + \beta = -1$$

$$\alpha \beta = -1 - m^r$$

$$m^r = 0$$

$$\alpha^r + \beta^r = s^r - r \rho = 1 - r(-m^r - 1) = r + r m^r$$

$$r + r m^r \xrightarrow{m=0} (r)$$

$$s/-1$$

$$y = a(n+1)^r + 1 \rightarrow 0 = a(x^r + 1 + r x) + 1 \quad (10)$$

$$\rightarrow 0 = a x^r + a + r a x + 1$$

$$\alpha + \beta = -\frac{r a}{a} = -r \quad \alpha \beta = \frac{a+1}{a}$$

$$\alpha^r + \beta^r + r \alpha \beta = \varepsilon \rightarrow r \alpha \beta = -1$$

$$\alpha \beta = -\frac{1}{r}$$

$$\frac{a+1}{a} = -\frac{1}{r} \rightarrow a = -\frac{r}{r}$$

$$y = -\frac{r}{r} (n+1)^r + 1 \rightarrow$$

$$y = -\frac{r}{r} + 1$$

$$n=0 \rightarrow y = \frac{1}{r}$$